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Test whether there is any change in l.Q" after the training prograrftrne, use 1% LCI$.

(ci S*lvr: the l'olluning LPP using Simpiex Method
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If th$ h*ight a{'500 stude,nts is nerrnrally distributed with l?]ean 6g inches and srandard
devirition 4 inches. Find the expectcrJ nunrber *l.stutlents havirg heights hetween 65 & {}67l inches.

Ohtain ll"aylar's and Laurent's expansions af /'(;] = --a-, 
L arou,cl ; * 0 0Br- +52+{r

;r nrachinc is clairrred to prodttce uails r:1'n:e*r: length 5 cms & sta:rdarel ol'i).4-i cnr. :\
rand*ttt samplt *f'100 nails gavc 5.1 as theil rverage length. Docs thr: pr:rlornltncc ol' ()6
l.he rnachineju*ti{y thc clainr? luention the level of'significance.\,ou apply.
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{r:} {i) ln a ceruriti tr:anulhcturing proce:;s 591 ol tlre tools pro4ur:etl turnout to bc dcl'ecrivrr.
Irind thc probability that in *. sarnplc of .10 tools *r mr)st 2 will bi: delective.

{ii} A r*nriam variablc x hns the probabiriry rjistriburio, {r4+(},r
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rkers ernployed for a specific job were classifieci according to

raining received t<l test indeperrdence of training received &

are $ummarized as fallows.
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iintra'n.d 50

Use ;r'iest for independen*e at 5Yo level of significance & write ycur conclusicrr,

{c} Use th* riual sin:plex methad ta solve the fbllo*rng L.lr.p.
Minimise z .* Zxl + xt
sr,thject to 3x1 + fr: > 3

4-r1 +3"r2 )6
x1 *Zxr $3
x1,J2 * 0
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